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Note: Time increases downwards. Scales OK for last curve (bottom black)

—— —— 17— — —_— — . — —
60— ‘ n 60— ‘
40— : N e 3
L ' i e | '
<
|- _—— - Ll T
g b B T
L i Z L :
8 :
20— ] ¢ 20— 1
L i - L ;
g .
L % | g i .
o B — (ol =t :
20l o 0wy 20l
13.35 13.40 13.45 13.50 13.55 13.35 13.40 13.45 13.50 13
log r [em] log r [em]
5 | L
L B -5
L 1 e i 3
S L .
L | < .
= L
-0 - 2 :
‘» —=10— '
L J 2 .
L3 i
© [ "
IR n o "
K r .
15 - sl .
S S BN P S S S O
13.35 13.40 13.45 13.50 13.55 13.35 13.40 13.45 13.50 13
log r [em] log r [em]
o —— — ——— — — o — — —— — .
25 . — 25— . —
g 20 1 b g 201 ; .
o L ! H o L ! H
O ' L '
o |- " - o |- |
c L . i c L T i
£ 15 - 215 —
5 L i 5 L i
3 e 2 :
2 H ———— 4 2 L 4
s e — S S .
- F E - F ; E
2 L ] 2 L : ]
o o
S 10— —_— — S 1o : —
05— 1 — 0.5 — ‘ —
ool . v . ] ool v T ]
13.35 13.40 13.45 13.50 13.55 13.35 13.40 13.45 13.50 13
log r [em] log r [em]
5000 3 so00 k- E
4000 - = 4000 E
X, 3000 4 =000 E
£ ] - E E
2000 = 2000 - E
1000 [ ' = 1000 - ' 3
ob oy ob oy S
13.35 13.40 13.45 13.50 13.55 13.35 13.40 13.45 13.50 13.55

log r [em] log r [em]



